Name Date

in Exercises 3 and 4, name the vector and write its
component form. (See Example 1.)

3. - S S N O
| ] ! ) .
! -_)_ £ e
Ci >yl | | | | i /\ @2,9’12 4
\: | Co
ISl 1 - 3
| | | D] ¢ < ’ o 3 >
' EREE
4_ S = = ek (2 IS
| | | Is] B
LA L L] S <—<),"7’>
| J | | .
| / HEEE
| | I 1
T SRR
=y A | L
In Exercises 5-8, the vertices of ADEF are D(2, 5), 5> o' (g5 ey
E(6, 3), and F(4, 0). Translate ADEF using the given / (¢ ® 5 (1 o)
vector. Graph ADEF and its image. (See Example 2.) (e 3 ) s ( )
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7 In Exercises 9 and 10, find the component form of the , @) o’ ( 5 ) )
vector that translates P(—3, 6) to P'. (32 - y) '
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In Exercises 11 and 12, write a rule for the translation € (» , -v)
of ALMN to AL'M'N’. (See Example 3.)
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In Exercises 13-16, use the translation.
(x,_V) - (x - 8’.)' + 4)

13. What is the image of A(2, 6)? o (-6 e )
. - ' - f) ()
14. What is the image of B(—1, 5)? C ( 1A \)
15. What is the preimage of C'(—3, —10)? C ( T = e >
16. What is the preimage of D'(4, —3)?
P : % b( v ‘\\>

In Exercises 17-20, graph APQR with vertices
P(-2,3), 0(1, 2), and R(3, —1) and its image after the

translation. (See Example 4.) @ b (v (i) @ (7 1 \ (\ D P (_!/ ’L\)
17. () > (x+4,y+6) o' 75 (Q’("O,O> o (=1 -3)
18. (v,y) > +9,y~"2) A ) , B
19. ()>@—2,y-5 ‘
20. (Ly)>kx—1y+3) ) o (-3 é)
In Exercises 21 and 22, graph AXYZ with vertices @' (o )
X(2, 4), Y(6, 0), and Z(7, 2) and its image after the .
composition. (See Example 5.) !1-/ ( v . L)
21. Translation: (x,y) > (x + 12,y + 4) LR i 7 K )
Translation: (x, y) — (x — 5,y — 9) Q s (-w,s’) > ("',"\

22. Translation: (x,y) = (x — 6, y) 7 ( \&, L” J ‘(\’i‘ : s’)
Translation: (x, y) > (x + 2,y + 7) .
1‘-("“’\(’) -t"(_w -1)

In Exercises 23 and 24, describe the composition of
translations.
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